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Instructions for tha Candidates

. Wrie your Hall Ticket Number in the space provided on the top of

this paga.

This paper consisls of sixty (80) multiple-choice type ¢f questions,
out of which the candidate would be required to answar any fifty (50)
questions In the evant of the candidate attempling mora than
fifty questions, the first $ifty questions atternpled by the candidate
would be evalualed.

. Al tha commencemsnt of examination, the question boaklal wil

be givan to you. In the first 5 minulas, you are requested tg

{iy To have access to the Question Booklet, tear off tha paper
soal on the edge of this cover page. Do not accepl a bookliel
without sticker-seal and do not accept an opan booklat.

{l) Talfy the number of pages and number of queations In
the booklet with the Informatlen printed on the cover
page. Faulty booklats due to pages/questions mlssing
or dupllcate or not In sarlal order or any other
discrepancy should ba got replaced imrnadlately,hy a

correct booklet from the invigilator within the parlud

ot 5 minutes, Afterwards, nalther the Qumion Booklei’

will be replaced nor any extra {ime wlili be' given,:
Atter this wenfication 18 over, the Test’BookIat\Number
shioulg be antared in the OMR Spaat\and thp OMR Sheet
Numbear should ba entered on tls” Teszooklet

{iD]

. Each ftem has fowr altemative rasfmr]sesf marked (A), (B). (C)

antd (D). You have to da(ken ha. circlﬁc as indicated below on the
correct response aqalnsl aaéh tam.

Exampie : . O . O

where (Chis thé correct response.

Your respon\saslo the sterns are 1o be indicatedin the OMR Answer
Sheet given'to you. i you mark at any place uther than in the
gircle in \he Answer Sheat, il will ot be evatuated.

Read instiuctons given inside carefully.

Rough Work 15 |o be dona in the end of this booklet.

It you wnte your name or put any mark on any parl of the OMR
Answer Sheet, axcept for the space alloflad for the relevant
enlrias. which may disclogse your idanlity, you will render yourself
liable 1o disqualification.

The candlidate must handover the OMA Answer Sheat to the
invigilators at the end of the examination compulsorlly and
musl nol carry il wilh you auicide the Examination Hall. The
candidats is allowed to take away the carbon copy of OMR
Sheel and used Question paper bookiet at lhe end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There |s no negative marks for Incorrect answers.
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Answers are marked in Red Circles
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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
FGT 0000 BoFET Fso s FeTioy SO
Paper -1
D26 -

1. The most poliuted places in India are 1. egrct B%ed’ o GO R R D02

(A) mPand by 5

To bl Sodor

(C) oD HA8oly bE

(A) Gwalior and Bhopal

Vapi and Sukinda

{C) Ranchi and Nasik

(D) Surat and Rampur (B) 006 8o oroyd

@ ot el Y g, einaing ron E500
OB HEODE0 6 7

2. Whichis the correct order of the degree of
weathering of the following rocks ?
(A) Dunite > Basalt > Granite > Rhyolite (A} coRel> g > (wped > OalrPes
(B) o3g> CogRed > (el > SarPed

@ FReS> G > copel > OArBeS

(B) Basalt >Dunite> Granite > Rhyolite

@Granite > Basalt >Dunite > Rhyolite

{D) Rhyolite > Granite >Dunite> Basalt (D) dairges> red> oer> wirg

. In a weight reduction experiment, an
overweight individual was given what the
researcher called a new type of diet tablet
that would help curb the desire to eat. In
fact the tablet contained powdered milk
but ever since the individual started taking
the tatlet, he has reported that his desire
to eat has decreased. This illustrates the

(A) Curvilinear relationship
(B) Effect of extraneous variables

{C) A natural experiment

Placebo effect

. XD BROD X BATHOE SO HND, FTe

5045 D5 00D THOEROD ea5E 37 @ By

Dy 35 xRy K583 B, Derdd 08 Jerdd)
DA &3 S, 20 £330 & Ao SR8y
oDonSined Mod eIt dved §og
SO BT, Be ypgrosio Sob T3S B2
BDRALT0B ?

(A) dEdad domoio

(B) oy utoribe @arso
(C) 2835re Garro

@ e (Placebo) @arso
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4. Communication will be effective if it is
{A) Delivered slowly and clearly
Delivered using appropriate media
(C} Received as intended by the sender

(D) Received immediataly

5. Arrange the following steps of teaching in
logical sequence :

1. Relating the present knowledge with
previous knowledge

2. Evaluation

3. Re-teaching

4.. Formulating objectives . (- - |.

N

5. Presentation of materials.
@ 12348
(B);-~2“;'\-’!".n,_l 3)4 5

(C) 5.4,3,1,2

4,1,5,2.3

6. The research that aims at immediate
application is

Action Research

(B) Empirical Research
(C) Conceptual Research

(D) Fundamental Research

t#

4. 300 T3 DIDY 8 B Perssoson
aotnod ?

(A) REIROTT SHor™ e000INE

QO AP FATd GIANOS e0doIHG
(C) Sodosmd el omdk dxsPoronio
(D) Dotsd HhBoisso

5. 305 g3 S FIToss 58 8 $006°
O
1. e ol @s ;%"D":’&
SowobeBoisaa |
2 srepen
:'3'_ ;@W&&
a. O SIS
5. R BSGotcio
(A) 1,2,3,4,5
(B) 2,1,3,4,5

{C) 5,4,3,1,2

4,_1, 5,2, 3

6. Dot esunge BALEIL GBS SOFE
58 9 |

@ SorgsE sos'ess
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Directions (Q. 7-11) : Study the following
pie-chart carefully to answer these questions.
(Percentagewise Distribution of teachers who
teach six different subjects)

Total number of Teachers = 1800

Percentage of Teachers

7. What is the difference between the total|
number of teachers who teach English arld L

Physics together and the total nurnber\of
teachers who teach Mathemaths and

Biology together ? )
(A) 16 '__(!3) 26
cr2sc - (@)e

8. What is the ratio of the number of teachers
who teach Mathematics to the number of
teachers who teach Hindi 7

(A) 10:7 (B) 17:13

{C) 17:26 None of these -

9. ifthe percentags of Mathematics teachers
is increased by 50 per cent and the
percentage of Hindi teachers decreased
by 25 per cent then what will be the total
number of Mathematics and Hindi

teachers together 7

(A) 946 (B) 843

(C) 1046 None of these
I# 5

D

3065 FAEC SeahBID) erire 58D 7 Kook 11
S6H Mo PHLD JrTres KHBoBoG. (385 DG
BPHes $R0D eT et THo B Sobed
ﬁmmmcb)

B0tho &TrsO00 Somg = 1800

7. ‘Sohse, resTneRs Bododdd 580 Anko

éﬁ‘rg‘gabam e , 5Tk Bodoedd
£HoD oo Gif‘!;b‘éoiboe.: 065 50 ot 7
(A) 16 (B) 26
(C) 28 18
- Re3Ba=rd) 5803 &Q‘Q‘samm So8aX0
o8 500 Erra S0 Ak o8 2
(Ay 10: 7
B) 17:13
(C) 17: 26
@3-335‘*—35‘ s

- 9. AT, B 000 S TeheE 5070 10D
2robd FOCH & éoincx\b 25 7o BAY
oy KedsTgo, wrobd dodoedd 863

éﬁ‘a‘scm.w K)oa:aaoé;é)iboﬁ'?
(A) 946 (B) 843
(C) 1046 * - :.gmaes‘ba e
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10. If two-ninths of the teachers who teach
Physics are female, then the number of
male Physics teachers is approximately
what percentage of the total number of
teachers who teach Chemistry ?

(A) 97

.92
(C) 94
(D) 99 -

11. What is the total number of teachers
teaching Chemistry, English and Biology ?

(A) 1,172
(B) 872

@ 972

(D) 990

- -

12. An effective teaching means ajl of the
following except

(A) a teacher(té\é.chés‘-\with enthusiasm

(B) ataache\r aims at diagnosing the
mistakes of his students

@a teacher puts emphasis more on
teaching than on class control

(D} ateacher is interested in making the
subject matter understand rather on
compieting the course

13. The most appropriate meaning of learning
is
{A) Inculcation of knowledge
Modification of behaviour
(C) Personal adjustment
(D) Acquisition of skiils

14 6

A O A

10. P85 §000 eI Tehod %;’) Sodw
So08 JxNPeRB, eTHETID) 00D HOR
aﬁvcvgﬁnm, Saraled %’vﬂgb& S°G0D Ando
STTOTE” KOBFELT 0B FB0 ?

(A) 97

@) 92

(C) 94
(D) 99
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A

14. Which of the following is false? Consider
the following statements.

(A) Using of Information and
Communication Technology (ICT) for
leaming promotes fast communication

(B) Information and Communication
Technology (ICT) promotes
cooperative leaming for students

(C) Information and Communlcation
Technology (ICT) promotes student
privacy

o~
Plagiarism cannot be prevented

15. Value based education can be inculcated
among the students through the following
initiatives

i. Making pupil's behaviour oonforrmsb A

by imposing the stritf, ;UIES
regulations and punighmént

ii. By creatlr\tg én\ external authority to
monu\tor‘the behaviour of the students
and teachers

iit. Prowding treedom and autonomy to
the students and effective
socialization and discussion

iv. Encouraging the students to have
proper role models for their personal
and intellectual development

(A) i, ii, iii are correct
(B) i, ii, iii and iv are correct

@ iii and iv are correct

(D) iand iii are correct

14 7

D
14. Lo aiedis 536 ICT § Sowofod essigod’
10BoSed.
(A) wegssd” ICT esdirmo Sg gr8 Ao
DRSOBRHBOOD
(B) deegset
DoTobiod

ICT sorsee warowdy

(@) ICT Do oy Doiiuod
(D)(CT escrnon yros T, Derdoisdin

15. 208 mSé‘ 0 2T ’a:;:gcs bmscsgaga Dess
wm@é\bdéé; es‘emmmo

) i,;\'g@x@_;s JEBFes, woFaresy Sobakw
 BocsSes DB0D DR EHEHI Eougo
Baeio oRo”

i, a7y BTy Domes B Dorgtpen 8oty
SrTROon S5 Sgmdoidtio oo

lii. dorggesn Wsiyv Vgao HADYD
| CORoSEoE I (ParSSosIpN
ronsdsteo b S o

v, Agtheo G5 JarGEoths Bey WSS
ISTIE BEUNEes §OA dodor

SFtyroio Ty
(A) i, i, ifi D52
(B) i, ii, iii 080 iv 5859

m $08050 Iv 58782
(D) i Sobaby il BB

A-00-01

www.eenadupratibha.net


prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval


www.eenadupratibha.net

D

16. My reaction to the statement: “A good
teacher is essentially a good researcher”
Is that this is

@My firm belief
(B) Something | find difficult to agree

(C) Something which | accept only as an
opinion

(D) Only a hypothesis

17. Sin Qua Non of good research is
(A} A set of well documented hypothesis
(B) A good research supervisor

(C) Adequate library facilities

A good research problem

-

18. India faunched National Ciree(\ Fribunal
to make poliuters pay damages in the
year : \

(A) 2008 |

(D) 201

19. Atwhat stage of an ecological succession,
an ecosystem exhibits total
photosynthesis equal to respiration ?

{A) Pioneer

(B) Climax

@Virgin

(D) Mid-Seral

#

AR

16. 'So0d é‘.cfj“cp"’gofmdio & AVO Sood
SOF DA doePsy &b T HIN0GS Sob

m (TGS SFPgRI0
B) 3558006708 0 Shom esod Do
(C) Es00 a8 edTrobor AT o eohsBod
Jhgdho
(D) o0 2.8 05

17, SIPHGPD BOTGSD ééﬁ‘dﬁ&x‘?
(A) avre 61‘_’3035 aB%Qb@wm:cm‘bo
(B) o}rﬁa;aa a@%“gg n}dgfbgi)do
(G) w@:s.‘o;[ @oﬁf”eoi) g
_ cﬁ?ﬁaﬁgs DO B

18, TessFtbe SEB0H0 PSR ereEdio

AN DB (I TR = DoNE oS
roodicnot 7

(A) 2008

(B) 2009

2010

(DY 2011

19. o esoEiso (ecological succession)
R0, 2 C5HE” THED 3555, Dwotho FTHVGD
5552 ieaessss oSS B0 7

(A) S5D00b
(B) 337

@;sgs -

(D) &S

A-00-01

www.eenadupratibha.net


prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval


www.eenadupratibha.net

I R G

20. What will be the number in place of the

21.

#

question mark (?) in the following number
series?

59 7 29 54 103

(A) 15

N

16

(C) 14
(D) 13

In this question, there are three statements
followed by four conclusions. You haye to

take the three given statements to be true |-
even it they seem to be at vanance from A
commonly known facts and Ihan ﬁecsde '

which of the given conclusmns log|c:aliy
follows from the three statements
dlsregardir;g\qommonly known facts.

n R T Y

Statements : Ali tables are chairs. No
chair s book. Some books are flowars.

Which of the following conclusions is
definitely true ?

(A) No flower is chair
{B) No flower is table
@Some chairs are not table

tD) No book is table

20. 2005550l Sopg® SRS STRGE I (?) el
Sex soetsols Sopg 20 ?
b. 9. 54 103

(A) 15

16

(C) 14

(D) 13

21|éﬁ@§&é“5wd\3 ES ST SO T
I_ . ;’ajaho@m &R0, JTFORONT BOBD Jere>
HHOM STHEPE® &9 50T BRETOR DB
BROFD BRSNS NS TearHd SwhoDE” I8
0, Ko™ & JoTE BHNTR eR08

K)ganoéod.

ST | o) wgeo e, D 60 Hijko S,
§ wIEen Halyew
80¢5 BB D BaR0KY PNBOMT SB 7
(A) 9 Hpsar HBy 3
(B) O Hpysor g sﬁb
() s 8y wy e

(D) DPIT w30 T
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D
Read the following passage and answer the
questions that follow (Question No. 22 to 25).

Talent is a force not a tool. Talent is neither good
nor bad. Being multi-talented is a very mixed
blessing. For some people, it is a curse. Ability

“or parformance is the result of complex
interaction between various parts of the mind/
body system. Some parts of the ability are due
to “nurture”. The most important of these
environmental factors is knowledgs in one form
or another. Nature is the basis of talent.

Wa all know, understand and operate on more
levels than just the conscious. Talents or
Aptitudes are uniearned abilities-gut-level and
non-conscious ways of operating. Some people
call them knacks. Aptitudes have major impact
not just on performance, but on our individual
and unique states of being. They are a big part

of the reason “One man’s meat is another ma‘n s:i

poison”. »

Most people know for more than ihex reahse
about knacks and talents. Pepple usually know
if they are mechanical, have ‘4 sequence of
direction, pickup. languége enjoy puzzles or are
good with_their- hands. Anyone who has
managed or 1rénried people has seen the clear
impact of leamed abilities. In any area, some
folks take to it like ducks to water. Once trained
they stay ahead of the crowd. Others sweat to
keep up or fail miserably.

Strong talents do not equal high performance.
Having the right knacks or talents provides a
head start and on-going advantage. They are
not useful without knowledge and motivation.
Aptitudes have to be trained in order to be used
well. Peak performance occurs when one has
the right combination of talents, knowledge,
motivation, opportunity, courage, luck, tools and
X factors.

I#

R R R

SotS e ITgRrTY 0D 22 506 25 56D Mo
L SSrpTTres 0Qoted.

DS L8 20T G0 T, BT Db BEH
o0 0008 S0, oY 3 DR doktio end
DFS0IS 3o. FoFd IDeTood® 38 F=dom
S0EAR0B. g Sa D (performance) edo
3055522 / 4B BESHED DG erTre Bo¢5g 236N Sl SO
POECE POBo. HIPED TN soTes Fom oo
DHEE. REVHoLS DBIS TETE Ter BPROH
a8 6roe TENFS 308" BI5oE PNo. HIVDH
eSS EI00 S,

300 BewdosTSto, enmses 3m§‘mo S0B0%0

Edero ™S i)‘m:é%"sf D‘bg\ehfaém
DTS ©Sgk0 dor e D3 80D SlarNelaty
T B o8 éa‘;:gﬁ"m:é“ 00 ed Fond®

:Séﬁmﬁoiﬁex%am Eo050 T80 THoe Lo,
K):rw(ﬁ?;omse“é:) E500 508 ADE S0P ¢
m@aaﬁggow PBgtom sotitio PP LT BEH
Q@@\:Q;m-’m D 2.8 5028 S5O0 T 30
Sy e 109,08° erio e,

QNS BoohE T QoD THow, HANe Foe)
D5 B, T ATPOBEOTT GoTTR, 0¥ e
DR G0, BP0 S oD Sy esotTe S
850 DBoo& J0m Yo @3 Ingiren Peetd
TS0 B0, D S es0as FERDBOR AT
B0 380050 BEE FH00 DRI RERRODD 0T 0
R BgTariy W &ioeId. 2 tofod exans Socks
55500 wrEa IS SRBDLNMT e HHE $BA
GOLTFD. 2.0 JED B iy AAEP DO Soedsrr
SOLTD. DONEFTRY DENESEIE SSodren S0 H>
Coyor DFeSoEds. 508N HALy &t
DS S50 SE8. K580 THoren 88k ¥R dociio
LB ESogs (55T ATEREIONT GO SV BXSSo0
EP DATEHESOT 06008, BPPN, (356 8Dod
222 &L HECOTT SO, SO GRIAIrRotG=08 Sire:
VT 5010 85 3D amsm&ammeﬁawsgé‘
Weifetsg 8o, 2pdo, (2013, eSs¥o, QUso,
SEY0, A30Tes BBBE LoTes HBD WEFS”
Goted.

T -

10 A-00-01

www.eenadupratibha.net

I Sy

b




www.eenadupratibha.net

A I

22. A child always opening the “crossword
puzzles page in a newspaper” is an
analogy for

(A) Some folks take to it like ducks to
water

(B) One man's meat is another man’s

(D} None of the above

23. “One man's meat is another man'’s
* poison”. In this statement we are referring
{o

(A) The food habits of a persen
(B) The likes and dislikes of a person

The relative importance of people's
talents

(D) None of the above

24. Aptitudes are
1. Talents '
2. Knacks
3. Performance’ ™
4. Unteamed abllities
+ 2 4 B} 2
Cc1 2 3 (DY 1

3 4
3 4
25. Peak performance occurs when one has
the right combination of
1. Talents
2. Knowledge

3. Opportunity
4, Motivation

Ot the above the aspects that are nurtured
are

(A) tand 2

@2and4

(B) 2and 3
(D) 1and 3

1#

R

11

D
22. pXeren SR “OSHGEE Mifodsen Held
BESE0” BIO $00 T3 HIL FOY YO e0d

(A) ot Spen areioro EE St
GO

(B) e.483 50108 0SB
A Sobaw B Qoo
(D) 38" D8 &0

23. “2.588 SOnod 08 :sq)c;; &6 $08 T35
DA 2rDi0d ? o
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26. Which of the foliowing is the main
objective of teaching 7

@To develop thinking power of students

(B) To give information related to the
syllabus

(C) Prepare the students for examination

(O) Hel‘p the students for getting jobs

27. The National Policy on Education, 1986
has emphasized on
i. Decentralisation of Education

il. Introduction of self-financing courses

in Universities

iii. Vocational Education

Graduates by prowdmg*lénow]edge
and skills

(W) i, i | and v are corfect

(B) ,i\.\_ii‘.\'i'_ii‘,"a\rgéo&éct

(C) i and iii are correct

(D) iii and iv are correct

28. Central Educational Institutions
(Reservation in Admissions) Act was
passed in the year

(A) 2004

(B) 2005

@ 2006

(D) 2007

I#

. Increasing employability for University |

A G 0 2

26. 300 T3 DO PN SETF of 0 1
@macsgéj 26" D02 #30 Dorododto
(B) SrE5RETIR0 RonoRoDs ST it
(C) Do 385 Bytio Dateio
D) Jrgigen e&yren Posaid SufanSco
27. dah doRoTSe, 19868 erelodod
I dewg TBoidEter .'

: 36‘530‘5&@0‘55 ;950:11: &nua:é 'ayese

s,

. &G desg

. BPT 2 VETgOS 0doY ¥ SAAOATO

BeEEsIL SN Ty e 0B
i, i, i SoBos iv DD
(B) 1,'i, i 5030

(C) i oo i 150989
(D) it soBeo iv 13D

28, Sofak doygoige (E37d eadynisn) Seo
2 Sosysod® oo Datedod 7

(A) 2004
(B) 2005

@ 2006

(D) 2007
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29. Which of the following is also known as
Top Slip ?

(A) Simtipal National Park
(B) Periyar Wildlife Sanctuary
(C) Manjira Wildlife Sanctuary

@lndlra Gandhi Wildlife Sanctuary and
Nationa! Park

30. The most essential step in the rasearch
process that determines every step that
follows is to

(A) Decide whether qualitative or |

quantitative methods are to be used

(B) Review the literature in order to.
acquaint oneself with comprehenswe’ 2%

knowledge TS

(C) Have a clear idea about the methods
of analysmq datab and drafting a plan
to achievait

. Formulatlon of the problem with its
objectives, hypotheses, variables and
limitations

31. What is a statistical inference?
(A) Reaching conclusions from a sample
Analysing statistical data
(C) Applying statistical method

(D) Developing statistical theories

I# 13

D
29, 300 736" B S 15 ) L0 Heod 9
(A) DS erdald aopisiso
(B) 2oatrd Sigeres :mgéﬁo@o
(C) soedor Sugered Sotsge oo |

@aowwo&nég@ﬁmdmao@omo:m
Il SrESisto

30. SBE°%RED SAPITR Dc‘boiﬁ BT eSS
Ao DB 2

(A) e o mwmag Degsod’ B
mmbabé‘ Degosoisso
(B)»nmmgw:); B3I irerg)

Sogoiscio

(C) srmys HEcer Sgioe MBoD HgRd
WSS SOR dod&o SobaYa ol
BB HET R BI0EE0

RS0 O%) Clwd), oFtes, HOSegden,
SEordoos SobaYon DO8dudse Do
Je iR S Yateintars
. TopgEsar e 2
(A) e85 ESD00RE Mod AEurek DabEe
@ _:‘Jvoaasg SErTOR) b@::obdo
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(D) Sropgy drrosreid of9g Davto

A-00-01

www.eenadupratibha.net


prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval


www.eenadupratibha.net

D

32. Coal mine workers are prone to be victims
of the following disease

Pneumonoconisis
(B) Byssinosis
(C} Asbestos

(D) Silicosis

33. Assertion (A): The challenge that the
Indian state is tacing
today is how to achieve
an equivalence between

the state and the c;hn'l:i |

society
democraticframe work. |

Reason (R).: Cnmlnail\zatlon of poittics,
1 political corruption and

47 communal violence stand

in the way of creating a

value-based political
culture.

(A} Both A and R are true énd R is the
correct explanation of A

Both A and R are true, but R is not the
correct explanation of A

{C} Aistrue, but R is false

(D) Alsfalse, but R is true

1% 14

W'fh'“ \_ \ ‘5{ |

G
32. Ftd’ SITD Fotoes Sob T3 D ahd
oS3 eSS0 ol 9
()zoprssas
(B) EROS2D
(C) &bavs
(D) 28525

33. Do (A): ((Berdsss ©068° oo
A L US0BaYos G RSFwre

So@y BSoseegdy der
TROBLEIDE eI er88d%0
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eDHS I:80Y FiwSss
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34.

Match the List-l with List-H and select the
correct answer from the code given below

List -1 List -1l

1. World Environment Day i. September8
2. World Population Day ii. December10
3. Intamational L teracy Day i, July 11
4. intemational Human Rights Day v, Juna 5

(A} 1-ii, 2-0, 3-iv 4

(B) 1-ii, 2-ii, 3-iv 4-i.

(C) 1-iil, 2-iv, 3-ii, 4-i

@) riv. 24, 8 i

35. Direction to Q. No. 35 : The following
question is followed by\two arguments
| and 1l. You: have}io demde which
argument s strong”?

SQQuld the opinion polls predicting
outcome of elections before the elections
be banned in India ?

Argument|: Yes,the cutcome of opinion
polis may influence the
voting pattem.

Argument |l : No, such polls are

conducted all over the
world.

Argumem I Is strong
(B) Argument ll is strong

(C) Both arguments ara strong
(D) Neither I nor Il is strong

I# -

o NN |

D
4. 35381350 el 8 s Socs RS TedE’ 538

m:};fbgoéoé
B3l Segell
1. @S0l Somgsse o i." Wyowb 8
2. (S0 wTHreso . @2ow6 10
3. woldadh efTRErate il ed 11

4. SOBTHAD IS P BG-IV. &S 5

(A 1-il, 2-i, Biv. 44l
B, B, 3-iv 4
AC)C, 24w, B-0, 4

.

1-iv, o4, 30 A4l

35. WrUN 35 5 PHO HOSD Boko TEIew
| Sty Il ausecpoos. 2 TS $Po8 s
DGCROTD 7

oG Bucd & dog Ve Jnodmd
wodar 30 PETHTraXress Iedotay
ersaddod’ oo 2

9 | ey, DSrrdErae $Hto
Se3of 360D EErOBo Bigod

"ot 1) 1 55, extasidord dogS AyerdErares
SHoDR0oBeT DUSTODSeED
([(R) zess | oo sy
(B) T 1 mxwor éind
(C) Bocts eswser oo &yd
(D) wresisen |11 56 wworr 8cso
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36. Putin descending order as per content of
Carbon.
1. Peat
2. Lignite
3. Bituminous Coal
4. Anthracite
(A) 4, 2, 3, 1 (B) 1, 2, 3, 4
(C) 3,4, 2, 1 4, 3, 2 1

37. Which one of the following is true about
the indian Polity ?

(A} ltis atrue Federation

(B) 1tis a Confederation
It is Quasi—

(D) Itisa Unitary State

federal

38. In a certain code DREAMING is wr|tten\as\= \
BFSEFMHL. How is SELECTEﬂ wrrtten"

in that code ?

.FMFTCDSB o (oA
) FMF[EF\UB
() EKDRCDSB

(D} EKDREFUD

39. In a certain code BRING is written as
‘53@©2' and GUIDE is written as
‘2$@76'. How is GINGER written in that
code ?

(A) 2© @253

o

(C) 2@ ©753
(D) 2@ © 353

1%

SO A

36. TGS Iorgo ersor 00 INF T BT
008" erothod

1. 5§
2. &yps
3. DegloRd
4. esogipeS
(A) 4, 2, 3, 1 B) 1t 2 3 4
©) 3, 4, 2 1 @)4. 3. 2,1
37. gro8 oreggBoo (Indian Pollty)&) Soohod
dots el i’ e ,oées;'m 20
(A) 28 2,501)?926355"335

) wgmm

(D) aES ot ﬁo@q;)é Treggito

(‘V‘
. 38. a,s’ Hods gt DF!EAMING ®e DEo
BFSEFMHL ™ crabadon &t solserisd’

SELECTED e 5000 Je= ovoir® ?
@FMFTCDSB

'(B) FMFTEFUD

(C) EKDRCDSB

(D} EKDREFUD

39. 2.4 5088 s’ BRING 53 550 '53@©2' v
SobaYos GUIDE &3 8o '25@76'

T oabegon. ety Dot i@ GINGER e
oy Aoe o> ?

(A) 2© @253

_2@©263

(C) 2@ © 753
(D) 2@.© $53
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40. A solarcell is basically a
(A} p-type semiconductor
{B) n-type semiconductor

@ p-n-diode

(D) p.n.ptransistor

41. Three of the following four are alike in a
certain way and so form a group. Which is
the one that does not belong to that group ?

(A) Tabala
(B) Fiute

) Music
(D) Piano

42. Whach of the following will come in the-|

place of question mark ?

HZ  JYK XM NOW 2
(A) PQV ~¢

(8) QRV. <

© QWA

on

43. Assertion {A): CFCs destroy ozone
molecules In stratosphere

CFCs have very high
global warming potential

Both'(A) and (R} are true

(B) Both (A) and (R) true but (R) is not the
correct explanation of (A)

Reason (R) :

(C) (A)is true (R) is false

(D} {A)is false (R} is true

I#

e N

17

\ ot

40. oo edOeE
(A) P 855 e T
(B) nds‘@egm

(OLIEES

(B) p.n.pernb

A1, 206 F3ds Teohoess® Sard 6.8 desore efer
GOC 8.5 DBarIY Htodraxn. I8 D6 e
SRFIIE BB 2

(A) Seer
(B) bosEd
(DY e

42, do55 :;;')52::(1:6 Te3s° @:5& K3 (7) asySe
TPSehod 8 9

HIZ JyK XM NOW 2 ¢
(A) PQV
(B) QRV
(C) QWR
on
43. RTYo (A):  (TeSTarab st 'S
Stusot CFCe
3BoSBIrow.
o (R) ©  CFC eo grifendy 334,03
RPSHG sy Tree ey e SDA
(A) 30005 (IR) Bociz St
(B) (A)modae (R)Bocr 50 570 (R), (A)
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44. The main purpose of the first degree in our
Universities should be to

(A) Bring students to frontiers of
knowiedge and from there should be
research

(B) Equip students with necessary
compatencies for different work
experiences

Prepare students for social service
and bring them to the threshoid of
knowledge

(D) Bring to the frontiers of research from
there necessary equipment of
knowledge

45. Which of the following is not a
characteristic of Scientific method ?

(A) Objectivity (B) Verification
(C) Speculation Predlctablhty

46. The minimum :hickness 1o be used in
b1odegradab\le: Qarry bags should be
(A) 5 microns - - (B) 10 microns
_1\ 5 microns (D) 20 microns

47. Which of the following is not an ethical
guideline for conducting research with
humans 7

(A) Getting informed consent of the
participant

Telling participants that they must
continue until study has been
completed

{C) Keeping participant’s
anonymous

identity

(D) Telling participants that they are free
to withdraw at any time

1%

18

o

00

44. 508 IEIEALPE dnocsed D ooy, B
(A) 305539265 8% DO B eeasioed
R RS

(B) DG DY eSogyToss @é‘bdéoojoé
mwﬁoﬁ)%&oiﬁdo

@:Jcrnsqgom DETWARES SN B o
Sa0oheatd &5co

(D) YA e LA a’:&é‘cﬁw;ﬁgﬁﬁges’a L))
€000 aééd@\:&g:}s":}; esoliitio

45. 205328 mw 56 v-go:g 38 Do), vgeso
5’0(:13\') "_, . 4
(A Dranage (Objectivity)
(B) sonraso {Verification)
(C) &=StEenysdondo (Speculation) -

i&)‘@;ﬁ:ﬁo&i}o (Predictabllity)

86. #5360 DB TR0t ESEAPRCSIERS
NG Sootio 06 2
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(B) 20 2=y
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(A) erridsod Saroord) ) eofisto oo

. GO0 FTGObIT e HH00E
£RJTre Do
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48. In a row of forty-five girls facing South, D"
is sixteenth from the right end. There are
8 girls between D and B. What is B's
position from the left end of the row 7

{A) Twenty-first

(B) Ninth

(C) Twentieth

Data Inadequate

49. Internet and World Wide Web are
(A) One and the same
(B) Internet is part of World Wide Web
@ World Wide Web is part of the intemet

(D) None of these

tested in terms

e

(A) Love towards th,e projassion
(B) Compatemcy to teach

@ Qbservance of professionat ethics
(D) In-depth knowledge of subject

51. ENIAC is acronym for

{A) Electronic Numeric Integrator and
Calculator

(B) Electronic Number Inierchange
Address Code

(C) Electronic Numeric Intercom and
Calculator

(D) Electricai Numerical Integrator and
Calculator

Correct Answer is - Electronic Numerical Integrator
and Calculator

| 19

D

48. S0 DY BIAT ef HORE' &Iy 45 Sood
OE8, D & erds HADD DSES0d 16 3
Lol gob. Desd b $odots B et erdy
::xss 8 008 erd¥en &, wod SHIS®
QPP D5 Moods B Duogy, pso Jod 7

(A) 213
(B) 95
(C) 205

;mr:s»do TO08 adf -
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.'_ 2{3\\) -_?\paqogo ea'.Sa SB0D TR ereod’ grito
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-52. M is brother of K. T is sister of M. J is

53.

I#

brotherof T. His fatherof J. Then howis
K related to H?

(A) Niece
Son or Daughter
(C) Brother

(D) Sister

Study the following information to answer
the given question:

P,QR,8,T, VandWaresnthnglnastralght =
line facing north but not necessarily. n\’the\ s

same order. R sits third to thé it of W,
Neither R norW sns atextrerne ‘ends of the
line. Only one: person sits between R and
T.Sis ngﬁég]}mmedlate neighbour of either
Ror W “T v\;o people sit between T and P.
Q is an Immediate neighbour of S. Who
amongst the following sits exactly between
RandT?

(A) P
(B) Q

@v

(D) S

20

NG 0

52. M, K g, st T, M aing), ¥68.
J, T coogy, Fcdoci. H, J dbogy, doid. eond
K, HE deroe3 Somotso SDASTET?

(A) o8Gen
SORTCes Ba HITY
(C) Hescoc

(D) Fc6

53. o8 qﬁo&’) K)N’D‘D‘Q)\b&i) OIS A0S A
r’oaﬁowih e’beocsoé
. A,.\Q,.R, S, T, V So0ato W esd Scghens a&to
| B st St & 1 Ay
D ESo0d’ 5o 5. Red S§ W o a6
(589, Baress Y508t ErByD. Red 53 md
W &d 558 ™ e S0BE D DT QDS
£rEEEs. RSadomn T S6sys o8 58 Kty
S ed 53 R © 8o W 0 353 0865890,
T 5080 P $06gd 3Gt S5heo s:rc&:p;d:
Q, § % 5D Lreyoa.
BoB TOE° 25> R So8oX0 T 5 B0 3565
Sryt ?

’ (%) P
(B) Q
©)

(D} S
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54. The major part of air pollution load lies in

A)) Troposphere

(B) Stratosphere
(C) Thermosphere

(D) lonosphere

55. A gocd piece of research is the outcome
of

| (A) Collective effort
(BY A touch of genius
(C) A reputed research institlte
A penetrating and analytical mind .
56. Broad Band has a speed more;than

(B) 51 ZKB\(sec e

256 KB/sec o~

(C) 1024 KB/sec
(D) None of these

57. You got a mail telling you that you won
one million dollars in a lottery.

{(A) ltis time to celebrate and respond to
the mail.

(B) Forward the mail to your friend

Suspect it could be tricking you and
report it as Spam

(D) No action

1#

™

21

D

54, Traibo Senso Glok), Bererio Sob i’
2 e358e308° Goeod 7

@5“3"&0303’35

(B) @esponh

(C) 8ppand
(D) 506329005

55. .3 QPR SOTES edd o0 T3S B 5 7
(A) 5958 et
®) Fesrao
(©) 5855 S8 o
. ma%é 0B DBKETaIE Suday

56. ‘xy0 mod:f’o' (Broad Band) @oog), o $0b
T3 BALE I Sot008 7

255 KB/otob
(B) 512 KB/ugoh
©) 1024 KB/2sob
(D) 232 s
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&3 00D 260 EAodoTD
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58. Whatis the relative position of moon, earth,
and the sun during a lunar-eclipse ?

(A) The sun and moon are in conjunction
The sun and moon are opposite
(C) The three make an equilateral triangle

(D) The line joining the earth and sun, and
earth and moon make right angle

59. Which one of the following is the usual
sequence of sciantific enguiry?

(A) Observation - Verification -
Hypothesizing — Theorizing

(B) Experimentation — Observation
Verification — Hypothesizing

@Observatlon - Hypothesrzrng
Experimentation — Theonzrng

(D) Theorizing -
Experimentation

Qbse rvatron
Hy]:gothesrzrng

60. The Edugatron Department invites projects
or actron research on instructional
problems related to your subject of
spemalrsation How will you react to this ?

{A) Prepare a project in case | have
experienced a genuine complex
problem

. Prepare a project on any problem that
might be faced by a large number of
teachers

(C) Prepare a project with the intention of
getting recognition

(D) Prepare a project in case an award is
declared

A

58, So@Trec JEBSIPES Solocky, B
2080 R Thusy, Fref e 92 9

(A) Sorthyt Sogioth Soclrfon™ doerax
Rdogtss Boiiatsy 55908 &8" doeras
(C) Sardr Shoerirodznerdy HHamon

(D) 2rd Kreiosy $05 By $o60105 8P
Soigody $9% By wow Serdy DesTod

59, ?a’f@oi: $OBE"D FTroes :.scmgn)o on T’
98 9
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; '\Q N %E‘?

AB). _@p;rr{o:somzo — $0%0% — JoBTEe —
L 5BEeyRdao

" @ 0% — 5O%es Sosiso — BArRoSaheo

— TS
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3BFSICDED
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